Table 3. Indicators of correspondence between theta-based and calculated T-scores.

Difference
>5 -5and5 <-5
Scale ICC-A CI95 ICC-C  CIl95 Bias Perc. Err. CI95+ CI95- % % %
BSI-GSI .99 99-.99 .99 99-.99 -0.02 12.3 -3.87 3.83 2.37 97.60 0.03

BSI-DEP .99 99-.99 .99 99-.99 0.01 11.4 -3.61 3.62 0.82 99.04 0.14
BSI-ANX 97 97 -.97 .97 97-.97 -002 178 -5.56  5.51 3.45 93.54 3.01
BSI-SOM .99 98-.99 .99 98 -.99 -0.01 13.1 -3.88 3.86 1.36 98.63 0.02
4DSQ-DIST .99 99-.99 .99 99-.99 002 113 -2.88 2.91 0.00 99.98 0.02
4DSQ-DEP .98 98-.98 .98 98-.98 -003 11.8 -3.03 2.98 0.00 98.36 1.64
4DSQ-ANX .99 99-.99 .99 99-.99 0.00 9.9 -2.52 2.52 0.41 98.56 1.03
4DSQ-SOM .99 99-.99 .99 99-.99 -0.02 9.9 -2.54 2.50 0.00 99.82 0.18
OQ-TOT .98 98-.98 .98 98-.98 0.02 147 -4.79 4.83 1.77 95.44 2.79

0Q-SD .98 98-.99 .98 98-.99 -002 135 -452 4.49 1.32 96.89 1.79
0Q-IR .96 95-.96 .96 95-.96 -001 213 -6.61 6.60 6.89 86.44 6.67
0Q-SR .95 95-.95 .95 95-.95 0.03 251 -7.47 752 10.14 81.33 8.53

OQ-ASD .98 98-.98 .98 98-.98 0.02 14.7 -4.68 4.72 1.92 96.03 2.05

ICC-A is Absolute agreement, ICC-C = consistency; Bias = difference between both T-scores (positive bias values indicates that g-
based T-scores are higher than calculated T-scores); Perc. Err. = Percentage error, the width of the limits of agreement interval
divided by the mean T-score of the population ((CI95- + CI95+)/M); “Difference -5 and 5” is the percentage of subjects for whom
both T-scores differ less than 5 points; “Difference < -5” and “> 5” are the percentage of subjects for whom the difference between
both methods is greater than 5 points.



